
SAP ABAP table MDUP {Generated Table for View}

MDUP

MANDT [CLNT (3)]

MATNR [CHAR (18)]

PWWRK [CHAR (4)]

PLNUM [CHAR (10)]

PLSCN [NUMC (3)]

PLWRK [CHAR (4)]

MEINS [UNIT (3)]

DISPO [CHAR (3)]

KNTTP [CHAR (1)]

KDAUF [CHAR (10)]

SOBKZ [CHAR (1)]

LGORT [CHAR (4)]

SERNR [CHAR (8)]

FLIEF [CHAR (10)]

KONNR [CHAR (10)]

KTPNR [NUMC (5)]

EKORG [CHAR (4)]

STSTA [NUMC (2)]

AUFNR [CHAR (12)]

MDACH [CHAR (2)]

MDACC [CHAR (4)]

EDGNO [NUMC (17)]

BERID [CHAR (10)]

EKKO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

 MDUP-KONNR = EKKO-EBELN 
0..N

{0,1}

EKPO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

EBELP [NUMC (5)]

 MDUP-KTPNR = EKPO-EBELP 
0..N

{0,1}

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 MDUP-FLIEF = LFA1-LIFNR 
0..N

{0,1}

M60I

MANDT [CLNT (3)]

EDGNO [NUMC (17)]

 MDUP-EDGNO = M60I-EDGNO 
0..N

0..N

MDLV

MANDT [CLNT (3)]

BERID [CHAR (10)]

 MDUP-BERID = MDLV-BERID 
0..N

0..N

PLAF

MANDT [CLNT (3)]

PLNUM [CHAR (10)]

 MDUP-PLNUM = PLAF-PLNUM 
0..N

1

PLSC

MANDT [CLNT (3)]

PLSCN [NUMC (3)]

 MDUP-PLSCN = PLSC-PLSCN 
0..N

0..N

SAFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 MDUP-AUFNR = SAFK-AUFNR 
0..N

{0,1}

SNUM

MANDT [CLNT (3)]

SERNR [CHAR (8)]
 MDUP-SERNR = SNUM-SERNR {0,1}

{0,1}

T000

MANDT [CLNT (3)] MDUP-MANDT = T000-MANDT 0..N

1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 MDUP-LGORT = T001L-LGORT 
0..N1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 MDUP-PLWRK = T001W-WERKS 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 MDUP-MEINS = T006-MSEHI 

0..N

1

T024D

MANDT [CLNT (3)]

WERKS [CHAR (4)]

DISPO [CHAR (3)]

 MDUP-DISPO = T024D-DISPO 

0..N

1

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 MDUP-EKORG = T024E-EKORG 

0..N

{0,1}

T148

MANDT [CLNT (3)]

SOBKZ [CHAR (1)]

 MDUP-SOBKZ = T148-SOBKZ 

0..N

0..N

T163K

MANDT [CLNT (3)]

KNTTP [CHAR (1)]

 MDUP-KNTTP = T163K-KNTTP 

0..N

1

T415S

MANDT [CLNT (3)]

STLST [NUMC (2)]

 MDUP-STSTA = T415S-STLST 

0..N

{0,1}

T46AC

MANDT [CLNT (3)]

MDACH [CHAR (2)]

ACCFM [CHAR (4)]

ACCTO [CHAR (4)]

 MDUP-MDACH = T46AC-MDACH 

0..N

1

T46AS

MANDT [CLNT (3)]

MDACC [CHAR (4)]

 MDUP-MDACC = T46AS-MDACC 

0..N

1

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 MDUP-KDAUF = VBUK-VBELN 

0..N

1


